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QUESTION 1

Refer to the exhibit

shell:domains = domain / Rolel | Role2 | Role3 / Role4 | Role5 | Role6
In the Cisco AV Pair, which two options are correct? (Choose two.)

A. Rolel = Read

B. Role2 = Read

C. Role5 = Write

D. Role2 = Write

E. Role6 = Write

F. Rolel = Write

Correct Answer: AE

QUESTION 2

Which messaging protocol is used by the vPC peers to communicate with each other?
A.LLDP

B. CFS

C.ZMQ

D. VPCT

Correct Answer: D

QUESTION 3

Which option describes how to clear a fault from the Cisco ARC after it has been generated?
A. Faults are raised and cleared automatically by the system.

B. Faults can be "acknowledged" only after the fault is in the "soaking" state.

C. Faults can be "acknowledged," which means it is immediately cleared from the system.

D. Faults are cleared only after the log is full, so the oldest faults are deleted.

Correct Answer: C
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QUESTION 4

In the Cisco Nexus 9508 chassis, how many Broadcom T2 ASICs are on the fabric module?
A. 4

B.1

C.2

D.0

Correct Answer: A

QUESTION 5

What is the minimal number of operational Cisco APICs .n a cluster that are needed to ensure that policy modification is
still possible?

A.3
B.2
C.4
D.1

Correct Answer: A

Latest 500-601 Dumps 500-601 PDF Dumps 500-601 Practice Test

Latest 500-601 Dumps | 500-601 PDF Dumps | 500-601 Practice Test 3/3


https://www.geekcert.com/500-601.html
https://www.geekcert.com/500-601.html
https://www.geekcert.com/500-601.html
http://www.tcpdf.org
https://www.geekcert.com/500-601.html
https://www.geekcert.com/500-601.html
https://www.geekcert.com/500-601.html

